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Attempt all questions. All question carry equal marks.
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1. (a) “A stock may be held for investment as well as
speculation purpose at the same time”. Do you
agree? What are the important attributes of

investment? Explain.

(b) What is technical analysis? Explain any three

technical stock indicators and their utility.
TatTY

Or

“Indian securities market has developed and
become more operationaily efficient due to various
reforms undertaken over the past two decades”™.
Comment. Also critically evaluate the performance
of SEBI in this regard. 15
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2. (a) Whatisa derivative contract ? Explain various types
of derivative contracts. Which types of derivative
\ contracts are available in India?

e

(b) The following details are available for a stock

option.

Current price of the stock = Rs. 70

Exercise price = Rs. 75

Risk free rate = 10% p.a.
' Time to expiration = 6 months

| \ Volatility (Standard deviation) = 0.42

‘ )] Calculate the value of the call option using

Black- Scholes model.

(i) Show the payoff diagram of this call option.
5+10
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Or

{a) What is beta? How can it be used to calculate
systematic risk of a security ? Can beta be negative?

(b) Explain the process of dematerialization in India.
What are its advantages and disadvantages ?

T2+
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3.! (a) ARs.1000 par value bond is issued at present at a
} discount of 5% and is redeemable after 8 yearsata
premium of 10%. The coupon rate is 12% p.a.
| payable annually. Calculate yield to maturity of the
‘ bond.
(b) Zodiac Ltd. is into readymade garments business.
\ The company expects a growth rate of 20% p.a. for
} first four years, 14% p.a. for next four years and
, then 6% p.a. forever. The expected dividend at the
end of current year is Rs. 2.44 per share. Calculate
,| the intrinsic value of the share if required rate of
\ return is 15%. TVa+TVa
| - : Or
{a) Explain the following :
(i) Bond immunization strategy

(i1) Bond convexity 10
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(b) Ahaan Ltd. is a no growth company. The recently
declared EPS of the company was Rs. 4 and
required rate of return is 14% p.a. What is the -
intrinsic value of the share? What will be the
intrinsic value of the share if dividend payout ratio
is 50% and the earnings and dividends are expected

to grow at a constant rate of 5% p.a. forever.
5
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Following information is available for stocks
Rand S

Stock R S
Expected return(%) 15 20
Standard deviation (%) 30 60

Coefficient of correlation = - .60
Calculate :

(1) Portfolio risk of a portfolio having expected
return of 18%.

(ii) Portfolio risk and return of the minimum

variance portfolio.

(11i) What will be portfolio return and risk if 80%
of funds are invested in R and rest in S ?

10
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(b)

(a)

(b)

2070

What is single index mode] ? How is it different
from capital asset pricing model] ? 5

Or

What is efficient frontier ? What happens to it when
arisk free asset is introduced in the market? Explain
diagrammaticaily. ) (5)

The following securities are assumed to be correctly
priced on a security market line(SML)

Security expectedreturn ~ beta
X 18% 1.2
Y 21% 1.5

- Using the above information calculate

(1) risk free rate and expected market return

(ii) expected return on a security Z having beta
equal to 1.8

(i) beta of security lying on SML and offering

return of 14%

(iv) Asecurity offers a return of 20% and has beta
of 1.1s it undervalued/overvalued? Why?

10
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X 18% 1.2
Y 21% 1.5

U YT & IMYUR R IREHlord Hifere :
(i) STTa™ ek oX TR Yol AT wfawa
(ii) 1.8 % O S B W wiefa Z W v
ufwra
(i) wiengfdy X =1 fier SML w f¥ra 8 iR 14%
Hlwel 3 W2
(iv) wh wfengfer 20% Sfawet 2 W 8 R S i

1 % | 991 I8 1Y Ydifoea &/ ftmeatea ¢ 7
=41 ? 10

5. From the following information calculate the optimal
portfolio assuming no short sales.
Risk free rate = 5%

Market variance= 10%
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Security Ri " beta Residual variance(%)

A 15 1 50

. B 17 1.5 40

C 11 1.5 30

D 17 2 10

E 11 1 40

F 11 2 40

G 7 0.8 16

H 12 1 20

' 15
Or

. (a) “Formula plans are useful tools for disciplined
L investing”. Comment. Also explain any one formula
plan with example. 5

(b) Write short notes on the following :

(1) Portfolio performance evaluation measures

(ii) P/E approach of equity valuation. 10
78 g gu A wefean Rk =t R, Rt gemn
¥ 3EaA Widniforal e fifvg:
SREA Geh R = 5%

R Y807 = 10%
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Security Ri beta  Residual variance(%)

A 15 1 50

B 17 1.5 40

C 11 1.5 30

D 17 2 10

E 11 i 40

F 11 2 40

G 7 0.8 16

H 12 1 20 15
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